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(1) ) (TH5) (2) 7@ . ETEA [ EZEAED

SR04 B 55,076 20, 569 22,169 59, 167 93.1 5,226 4, 022 1, 204
BFIICA 54, 628 20, 700 22, 260 58, 468 93.4 5,223 4, 004 1,219
2 54, 096 20, 920 22,447 57,764 93.6 5,239 4,116 1,123

3 53, 420 20, 961 22,443 56, 937 93.8 5, 145 4,033 1, 112

4 52, 798 21,120 22,601 56, 176 93.9 5,115 4,011 1, 104

g OB BETrAKER GE) 1 AR - #FEIIEEROME, HKFEIE TREHN] ORMFERTH 5,

2 TRARANR] RO TRKKIN A B | I3HEEHETH 5,



XV K E
135 AFLT/KEIERR K O KR
EERER = WMEAD O BAN (HAL M fkha)
. ) . TAKE T K | Jitd X . . B
. | TETHOE SRR I8 LRI A5 i SR A . — — Tk AP
= (0. 1.D) RS AN S HEs () | FRLEES | Ro78% | FTAEE: AIRE K L YRE
K B (90) (t&57) (577 E ()
SRk 30 AEE 783 594 22,351 36. 6% 4,195 — — 130,913 8,714 6, 007
S oot EE 783 596 22,254 37. 3% 4,219 — — 131, 275 8,779 0, 233
2 783 600 22,135 37. 5% 4,333 — — 131, 758 8,910 0,410
3 783 618 22,069 38. 0% 4, 328 — — 132, 065 8,979 0, 522
4 783 622 22,029 38. 5% 4,282 — — 132, 361 9,111 6,712
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BB (%) (f577) (77 JIEF (m)
YRR 30 B — 230 1,031 1. 7% 289 3 — 14, 582 342 325
S oot EE — 230 1,014 1. 7% 372 3 — 14, 582 345 328
2 — 230 1,003 1. 7% 383 3 — 14, 582 352 334
3 — 230 1,002 1. 7% 355 3 — 14, 582 352 336
4 — 230 989 1. 7% 309 3 — 14, 582 351 336
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SRR 30 4EREE 4,014 15, 756 5,376 26. 0% 109
SF gt FE 4,078 15, 989 5, 572 26. 7% 98
2 4, 146 16, 113 5,725 27. 3% 86
3 4,195 16, 165 5, 842 27. 8% 79
4 4, 248 16, 085 5, 945 28. 0% 79
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KK = RWEAN S RAD
= pe [HOERA G| BT | RIBERT IR AT AR | Ak | Aok
= HLER A LB PN LR R G P gt (%)
TR 30 AR 19, 722 7,354 7,608 3,423 27, 330 10, 777 45. 1%
A T EE 18, 970 7,241 7,010 3,191 25,980 10, 432 43. 4%
2 18, 320 7,182 6,675 3, 088 24,995 10, 270 42. 3%
3 17, 644 7,081 0, 281 2,942 23,925 10, 023 41. 1%
4 17, 054 7,013 5, 965 2,862 23,019 9, 875 40. 2%
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